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Computer Related General
Knowledge

Which one of the following is not the
example of non - impact printer ?
(A)  Daisy Wheel Printer

{B) Inkjet Printer
()  Laser Printer
(D)  Thermal Printer

A computer virus normally attaches itself
to another computer programme known

as :
(A) Target programme

(B) Host programme

(C)  Trojan Horse

(D) Backdoor programme

Which key is used to move g c t

beginning of a line of text ?
(A} Esc ¢ O

(B} Enter
(C) Home Q
(D} PageUp \'

The process to obtain confidential
information from a computer user by
falsifying their identity is known as :

(A) Spoofing

(B)
(<)
(D) DBugging

Phising

Spamrming

Hes

HIHET Hal el

Y B HE U -

(A)
(B)
(€
(D)

HTH AT

ST

=7 &7 FarEam

: Y FHEL G

(C)  Zre ard

(D) =R dam

HIHL I THZ TET P § @ & fed
B 1 (key) ST T §7

{A) Esc

(B} Enter

() Home

(D) PageUp

THL T B ATAT T [TEEE SHL 0TS
FE L 5 ] T SRR I FE FEarn
7

(A) =it

(B) TwfEq

(Cy wfEmT

(D) =T
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5. The gingle transaction between the CPU 5. Hi 917, T =M@ i (external memory)
and the external memory is known as o HEq THhe SEM-Y2H (single transaction)
gy [ B | O w1 FEd E
(A) IO cycele (A) I/O wEFs
(B) |data| unit (B) =R gF=
(C) |bls gycle (C) &8 HEF
(D} |bit node (D) @2 A

6 Whidh |one of the following is not an 6.  TH A R U e fawg A d o
opergting system ?

(A) |[Windows 7

(B) [Chrome

{C) i"u’im!'iﬂw.e Vista
() UN[.‘!’{

7. Which ¢me|of the following is j 7. TH W HIE UH ST S ToE fEa TE

function of a computer ?

(A) |Data i O (A) B TR
(B) |Data (B) = T
(C) [Dhta (C) == HmEm
(D) [Datal Analyzing (D) == faveruw

8.  Tull fori of TIFF is : 8. TIFF &1 99 &9 & :

(A) [lagged Image File Form (A) T THA FEE FH
(B) [Tagged Image Fax Form (B) 7% TH e
(C) |l'agged lmage File Format (C) T OIS FEm WHL
(D) [Tagged Image Fax Format (D) &5 T el W
SPACE FOR ROUGH WORK / T% @14 =& ford wmg
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47. OD, OE and OF are perpendicular 47, OD, OF a1 OF, 49| %l T SIS W
bisectors to the three sides of the triangle. efeaq faws §1 1 ZBAC[AS £BOC &
What is the relationship between £BAC e F HAY 7
and ~BOC ?

A
D
/[ P
e —f— ; c
(A) ZBAC=180-£BOC (A) =180 — ZBOLC
B) £BOC =90+ % ZBAC . (g)znoc =90 + ;- ZBAC
C\ ¢
(C) £BAC=090+ % ZBOC O (C) <£BAC=90+ %!.{E;DC
(D) /BOC=2/BAC Q (D) £BOC=2/BAC
O '
%) |
l :

48. What annual ins% tWill discharge a  48. 5% TR =4 a"-rlﬁ T 4620, 5o H
debt of T 4620 due ifNpyears at 5% simple a1 &4 foru foas ands fesd gl
interest ? T2 ?

(A) 1080 (A) 1080
(B) 924 (B) 924
(C) 1280 (C) 1280
(D) 1050 (D) 1050
SPACE FOR ROUGH WORK / T% &g & ford v
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49. The ayerage marks of 50 students in a

class

5|15] Five students left whose

average marks was 15.25 and 4 new
students jt};fined the class whose marks

wereg
Then

(A)
(B)
(©)
(D)

Impef:tively 13, 11, 10.5 and 9.75.
the present average marks of the

stude;lts in the class is -

4
1412
1465

MNone of the above

50. The difference of 102 -7 and 10+ x is
divisible by 3 for which value of x ?

49,

50.

4

U FE0 Y 50 B +1 2ias &% 15 3| i
BT 1 AT 37 15,25 a1 5 3 Fa Bream
o T T 4 9T T ofF mEe 13, 11,
10530 9.75 4, 78 &1 73| 99 P F o
] S AT 3 F

(A) 14
(B) 14.12
(C) 14.65
(D} T8 FE 9

19 & fore 105 -7 a9 102 +
3 9 Tqwifer g 2

\ *
(A) 3 Q @A) 3
® QELE
(C) 4 () 4
©) 6 \Q ©) 6
O
51. A hollqw cylinder i t both the 51, UH EIEE <o & g6 9 9= £ afe v
ends. If the radi ba%e of the cylinder *F FYR F T Ao & S 5 et g
is half of height oNghe cylinder and the YT BT YW YRS FH AAEA 924 THEE 6

complete|sutface area of the cylinder is
924 units,| then the height of the cylinder

15

CIERER T i

(A) 14 (A) 14
(B) 16 (B) 16
(C) 18 C) 18
(D) Nprje of the above (D) 3wl & 8 1 i 74
SPACE FOR ROUGH WORK / T% &4 % a3 =
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9.  Technology used to transmit digital data 9.  Tefs/ed 221 w1 2w fHeyd @ dfta s

over telephone network is ; ERGEREC R IRIHE R
(A} Bluetooth (A) =EY

(B} ASL (B) WUHTA.

(C} Router (C) U3

(D} DSL (D) EhLuaua.

10.  Which of the following is not a Google 10. = d9 - e (Godgle) T HT=a T

software ? (software) E E?
(A) SketchUp (A) TP
(B)  GMail (
(C) Google Earth . ig)‘m =14
(D} None of these ) T | EE ot A
O
11. Google is a _. 11. TE U A
(A)  Web browser . OQ (A)  =E STI

(B} Search Engine @ (B) =4 A
(C) Web Server Q (C) = Hat

(D} None of the alfte (D) I9lE | | wE o e

12.  Best quality of Graphics is produced by : 12, Haiad MiEaE 5975 =7 641 &

(A) Dot Matrix (A) =iz BfeF9 F g0
(B) | Laser Printer (B) o TH2 & 5
(C)  Plotter (C) AT % BH

(D) Inkjet Printer (D) ¥asie fifet & g

SPACE FOR ROUGH WORK / T% &4 % f&d sme
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13.  VGA stands for : 13. VeAF g w9 % :
(A} ¥ ic.eo|Graphic Array (A) i mites o
(B) Video Graphic Application (B) =tfeat mitee ufierram
(C) 1iu'sml! Graph Array (C) fasera ae ot
(D) None of the above (D) 9= o | w7
14.  Which pfjthe following storage media has 14, 1751 5 9 fas ¥eww 91599 (storage media)
the capagity|to store maximum data ? H AT BRI HERW (data storage) i
(A) HVD
(B)  Blu|ray
(©) Ovp
(D)
15.  Which pf| the following is used to 15.  CPU W@ 591 3 fv1 & 9 fEa
CPU miictoprocessor ? F9E T = 8 2
(A) ;-llliﬂa | N OQ (A) Tafea
B) Chpper @\ (B) Fw
() 5 imn| Q (C) Tafest
(D) SIver \ (D) faem
16. Which pne of the following is not a web 16, T8 H FA-91 &9 Area 78 2 7
browser 2
(A) Opera (A) S
(B) Firefox (B} THEEEE
(C) Internet Explorer (C) oz uaeng
(D) Ubuntu (0 242
SPACE FOR ROUGH WORK / % &M & el g
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52

53.

54.

J_

2+'\"I?:'.. +2—x-'
2 +45

2 -5
() —1
(B) —18
€ 5
D} -5

If x*—3x+72 is a factor of ¥¥—axi+b=0,

then the values of a and b are ;

(A) =5, —4

(B) 5,4
(C) -5 4

(D) 5, —4

The sum of two posit
their LCM is 168,

are

(A) 32,20
(B) 17, 35
(C) 16, 36

(D) 24, 28

te

L 4

)

the numbers

>

rsis 52 and

52,

(A} =1
(B) —18
(€ 5
(D) —45

31 W R &1 AW 52

(A) 32,20

(C) 16, 36

(D) 24, 28

q
THTEA 168 F1 79 TE 3

+0 &1 UF

AT TTERTH

5021/ SE-SH/RCE-M
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55. (ircle is {ZL'CL mscribed around a square 55. U 91 ABCI 3 =R S U Ja G T g

ABCD ak %jven in the figure, If the area T 3AE H TR U DI 9 AR
of one ::+ The shaded portions is ,if the % A E e T
radius of ETE rircle is
7
/)
I
(A 3
By 2
C) 2 ®
(D}  None of the above e o T e ot
0\ A
56. The radigs olthe incircle in the given %Tﬁ}“ e 7 e =1 T 2

diagram wiPl e -
A Q A
N\ O

sel I ,\&Qz\
NIE

B~ § C B
(A) 18 dn ()
(B} 2.0 dm (B)
(C) 2.5 dm (€) 25em
(D) 3.6 qm (D) 36 em

SPACE FOR ROUGH WORK / 1% &Td & fod - e
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57. The set of values of p for which the roots 57, pEHEATE 1 TN w4 E, [ e HH TR
of the equation 322 +2x+p{p—1)=0 are 3324+ 2x +p(p—1) =0 F [ i o &
of opposite sign is : g7
(A) (==, 0) (A) (—.0)

B) (0,1 (B} (0.1
(€ (1, =) () (1, =)
(D) (0 =) (L) (@ =)
58. Let (xr, y)=LCM of x and y, and 58, I (x, y)= x 3Ry 1 W Fomee @
3, 2
= HC gt wandgalt B E=2’ [x. ¥] 2 y T TEEH JACEAF € Tl
5
and E—1-;=1[] then (x, y) [x, y]= . -@%:E,H?}T 2—|,3+—~}'|z-=1131I GE)
Jx i \\fl‘ Y WE i
Q, ) [, vl =
(A) 36 O {A) 306
(B) 4 Q (B) 4
© 6 . O @ 6
(D) 81 & (D} 81

59. 234 +7332 — 3564 = 59. 2% +7932 - 3864 =
(A) 1093 (A) 1043
(B) 1094 (B} 1034
(@ ad10 (©) 4310
Dy 10 (D) 10

SPACE FOR ROUGH WORK / 7% ®Td & fod &g
5021/ SE-SH/RCE-M 17 Set- B




60. In an|urn there are coins of ¥ 1, 50 paise
{ - - ;

and 25 paise in the ratio 5: 6: 7. If their

total va luei is ¥ 117, then sum of numbers

of 50 jai,se!cuins and 25 paise coins is not

divisiple by :

(A) 13
B 7
() &

(D)

=

61. A milk seller buys milk at the rate of

I3 per

1
litre. He mixes water I of it and

sells the mixture at the cost price. Then

his pe
(A)
(B) 1
(C) :
(D) 3

62. A mot
25 km
region
east of]
Is (app

(A} 2

B 2
© 2

(D)

[

centage gain is ;

o QQ)\

o
o

A
orboat is

/h a1|1d N ter current in that
ig 10 km/h'Wi the direction of 60°

south. Resultant velocity of boat

LA

i

rcxir}mteI}rj z
24/2 km/

0 kn"lj h

D kmkh

02 km/h
|

6.

61.

62,

U e § 1, 50 98 79125 T F Tgw o
AT 5:6:7 81 AT T Fe e
T 117 @, 9 50 T =i fasl %] wen v
25 T =i fowt ®t g=m w5 9 faafag
&l 2 ?

(A) 13 M

(B) 7ERW

(C) 43

(D) 6

UH 39 g T 3 Ul fael F oum 9 Ew

& T8 309 g9 = A= & i_:trr—ﬁ

M\ FE-qE RAR T | 0=

o = gfaeE &

(A) 20%
(B) 15%
() 25%
(D} 30%

UF HEvdE I &1 fewn 7 25 fwoAr A w5
TR 4 9% T § S 39 &% F uEt e oA
i & 60° qa 1 fown 7 10 frodt /4 §)
Tie HT g 39§ (T

(A) 2242 fas =
(B) 20 f=.Hr /4
(C) 22 i/

(D) 2042 fw

Set-B
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63. In a village there are five men for every 63, T4 e e = g | fere = wfgend
four women and five children for every T qm U O T % ﬁl‘E!{T:ﬁ TEE T AlG
two men. If there are 648 women then rfaensil =t HE 648 |8 91 T Ht STTHEA
what is the population of village 7 FNE?

(A) 3475 (A) 3475

(B) 3473 (B) 3473

(C) 3483 (C) 3483

(D) None of the above (D) 390§ FE H 7

- 124580)% % {1&[5?11§ ~
64. The value of the fraction 64, To= % : EoRiE R
10
1 1
{1245&9)51 5 {1216?}/5 " O
1(}3 O
S

(A) 8.119 \m] 8.119

(B) 81.19 O (B) 81.19

(C) 7.119 (C) 7.119

(D) 71.19 :Q (D) 71.19

é\
65, If x = 2ab the value of 65. AUM[G ¢ = e :?ﬁx+£ l—x+baﬂqﬂ
ath’ a+b x—a x—b

x+a x+b 3.

xr—a x-b -

(A) 1 (A) 1

(B) 4 (B) 4

(€ 3 (C) 3

(D) 2 (D) 2

SPACE FOR ROUGH WORK / T& & & f&a wme
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66. [x] dengtes the greatest integer value just 66. [v], x ¥ 3% 9 T=ay Ui T Wefyia

below xfand [} its fractional value. The T E AUT (v) 3HF BT o w1 At
sum of [x]3 and {x}2 is —7.91. Then the [ A (xR H A —7.91 & @y w1 oA
value offx|is : T
(A) —0.03 (A) -2.03
(B) 197 B =197
(©) -2.97 (Q —2.97
(D) =17 (D) ®
.
67. If « and [3 |are the roots of the equation ) Wa R B FHF 22— pr+q=0 F e
S | I :
rr—pxHgl=0, then the wvalue of O =S S T
« I8 L o’ +q B2 +q
{iz + (_I E:z + i.-l
.
: O:
Ay = Ay
A g \Qz\ @
(B) p (B) p
2 o
9 9
9 5 4
®) 3 ® 7

SPACE FOR ROUGH WORK / T% & % & we
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17. IPv6 internet protocol address system is
written in :

A} Binary

(

(B} Octal

{C) Decimnal

(D) Hexadecimal

18. Shortecut to switch between two open
worksheets in Microsoft Excel software
(A) Cul+F8
(B) Cirl + F10
(C) Alt+F8
(D) Al + F10

19.  Which of the following is not a develo

(A) Google * O

(B) RIM &
(C) SIM ,&

(D} Microsoft

20. When you switch-on a computer which
memory is first activated ?

(A) RAM

(B} Hard Disk
(C) BIOS

(D) None of these

17.

Q\Uﬁ Alt + F10 !

9.

20.

Ipmmm—@L
H gt 91 % |

(A) ==
(B) AT |
(C) =fama

(D) ze-2faaa

s
§
%
g
!

Fretferfas & @ FH-4
&7

(A) T

(B) T (AmaAE.EA.)
(C) fam (wo.amaA.)

.,

(D) TS TR

! T = fea- fq‘!fﬁ
HA-H T FEawEie (act

(A)

(B) FrE-fe=w

(C) =

(D) wHH&E T |

¥ B g wdiie

T

SO T HERYH

vate) BT E?

SPACE FOR ROUGH WORK / T &1 % fod we |
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AT et

w98 - H v v

26.
e B (A) TEIFT HAE
21, feiensi § | <v wsg w1 g (B) e T
(A) :L; (C) &g HHH
o ) (D) =HEREA HH
(€ Tews
(D) THEH
27. @ - FAW = T
22. ' wiE|E@ 2 % ol e v o ffga € =1 7o = |
(A) T (A) 79 = CEY
(B) Hfw | By Ty @ wH
(C) FEa (C)  AmeBag Ty
©) f_E}}: @ Hi
23, Eﬁtr*utwmm@maﬁmaﬂ 28 D I
He wY [ feia \[?x;l s "
(A) T Q o
@) O (B) =
T

24. M=i=d
=

(©)
I Eeft e w € Q (D) 7

'ffﬁﬂﬁama?% @:’W?&ﬁ 29, TefetEd § | wH-11 w=g e’ T §

(A) T Q (A) @y
(B) TeHIlE & (B) =
(C) T (C) R
(D) g D) s
25, AR Efte & e 9 § L . X
(A) T# B Al § TEe Uy yEn 30. TEERd A 4 fen o 1 g
(B)  TIET F F UE w E (A) TeTHR
(C) =R 1 FE-E ToE e (B) Teg=qE=
(D) 50 [ 2@ 1 30 gam@ 241 &7 (C)
i (D) T=Ea
SPACE FOR ROUGH WORK / 7% &Td & f&d s
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31.

32,

General English

Find out which part of the following

sentence has an error,

He tried / hardly to / win the race.

I III

11

Il

-

Mone of the above

e

In which of the following sentences tRe

use of the idiom ‘at sixes and se

not appropriate ?

(A)

(B)

(€)

(D)

He apologized b& e house
was at sixes and@

Our teachx just moved in to a
new classroorm, and she was still at

sixes and sevens.

After the captain of the team broke
his leg, the other players were at
sixes and sevens.

The dog's barking kept the Browns
at sixes and sevens with their
neighbours for months,

23.

35.

Choaose an appropr'l
alternatives given to:
for completing the follo

He acts _

boss.

like
that

as if

s that

HEARSAY

()
(B)
(©)
(D)

Choose the correct =g

(A)

(D)

Precious
Estimate
Authentic

Indecent

There are ma
Oxford Street.

There are many |

Oxford Street.

There are mEllllj.-’ I

Oxford Street.

There are many large shops in the

Oxford Street,

1 T hE‘ W

word that|i
o the

11

1;

AT

te word from the

pel
Wing sentence,

F & conjunction

re already the

maost nearl}r

word in capital

e

arge shops in

Tge shops in a

e shops in an

SPACE FOR ROUGH WORK / T% =14 & g =g
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36. Selact the group of words that is most 39, He says to us, “Keep the gate closed”.
neatly similar in meaning to the idiom/
phryse if capital letters. [dentify the correct indirect expression of
GORINIAN KNOT the above imperative.
{(A)| Utmost hatred for someone.
(B) loke family tree {A)  He says us to keep the gate closed.
{C) | Totwist hair into a particular shape.
) | ] _ _ (B) He says to keep the gate closed.
(I2) | A seemingly impossible ar difficult
task or problem.
{C)  Hesavs that we are to keep the gate
.
37.  Chogse the most appropriate one word
subslilprte for the following from the given
_ ' - i asked that we were supposed to
alterpatives :
- close the gate.
To gend|back a person to his own ’\ .
countrp. Q
(A) | Ixpatriate O
(B) elggate 40. Complete the following sentence by
(C) | Bxpel Q inserting a suitable preposition from the
e cI {ives.
(D) | Rephtriate . O guven allernatives
& We are sorry s SN PY
38. Chodse the OX dssive form of the misfortune,
follopwing sentend
[ remember them taking me to the zoo. (A} about
(A) |They remember taking me to the
L0, {B} f{)r
(B) |l pemember them taken to the zoo
by them. {C} at
(C) |I remember being taken to the zoo.
(D) |None of the above (D) with
SPACE FOR ROUGIH WORK / 7% &4 & fod =g
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Mathematics T
41. A sum of money put at a compound  41. HE ¥ 299 & U TEAlg P T 673
interest amounts in 2 years to ¥ 673 and w1 399 & @y ?F;ﬁqﬁi T T T 714 &
in 3 years to T 714, Then the rate of TS| 4 =T wfav whed || ()
interest per annum is (approximately) :
1 1
4 =% 4 =%
(A) 42 (B 25
6 Lo B © Lo
0 -0
B) 6 B) 67
2
© 13% © 12%
(D) 6.4% (D)
42, Ifa+--—\.'r_ ths_v’tlui_‘ﬂfa 4—15 \ a+--—‘f— ?ﬂa +-1_Saw‘rm:r€m:
a
o
(B) 3
(C) 0 {CII 0 !
(D) None of the above (D) 3uiEd H | F:E ml Taf
43. In a triangle ABC, id points 43. uH fays ABCH D, E T:ILU F e BC, CA
of BC, CA and A twel}r If P is qo1 AB % Wex fawg #1 3f2 AD, BE a# CF
point of intersectio AD, BE and CF e GHL l’ﬁrﬁﬁﬁdﬁ%ﬁﬁﬂmﬁﬁ
then, which of the following is true ? > e B 7
(A) Po: FE  FPE 1 (A) PD  PF PE|l i
p AP _cp_BF_3 w AP _CP_BEl I3
() Fe: PE TFE 1 (B) FO: :FF [PEY |
o AP _cP_BF_4 . AP_CP_BF 4
(<) FDb PF PE 1 ©) FOL PE  TE |1
(D} None of the above (D) W H o &% ] TR

SPACE FOR ROUGH WORK / T% =19 & foa =g
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44, I 2|+ 242y =342 and 44. A 2 x+242 y =32 F
5v3 ¥ T44/3 y =3, then (xy)?15= 5V3x - 443y =3, T (x)205=
2015 25
(A} | 2 {‘AL} z_ﬁ_
(B) (B) 1
" 4015 ; 2015
S NE © 3
(D) 2005 (D) 2015

45. When 1,3?3|+7143 is divided by 11, then 45,
rernainder is :

(A) 13 ’\
(B) 2 Q (B) 2
| O
(C) 14 | (C) 14
L) 3 ‘ Q L) 3
O
46. If threp p&'sons fire eir pistols 46, Alg dH =fFd o177 fopge & vl 90 us
simultaneously rst time. After WY WA TG E A SHE 99N 9 HA
that they|fire at @ , 5 and 7 sec. from T 3, 5991 7 Hahve F o0 fome §
their p stols[ How many times they fire HRY A E, @ U oA f F d uw oy
togethler in one hour after third B & UYE, TRl 91 U WY R S
simultaneous fire ? €7
(A) 32 hmes (A) 329X
(B} 3B limes (B) 33491
(C) 34 times (C) 3R
(D) None of the above (D) SwEd W # =i T2
SPACE FOR ROUGH WORK / T% &4 & ford 5mg
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68. If the area of curved surface of a right 68, iG (S0 = ¥ig & F I §5 1 &
circular cone is 407 units and radius of 40 }’ﬂ?l'% "q"l GEN| '%'(3[35 MU BR] T34 5 EEF;Eé
its base is 5 units then its height is 2 4 3HET AR 2
(A} 3 units (A) 33@R
(B) 5 units (B) 53%FE
(C) 7 units (C) 7 3=mE
(D} None of the above (D) =00 o & =15 o 7]

69. If 23x+3.1y=1.5 and 31x+2.6y=3.6, a9,

T2 2.3y 4 e 1.5, 2 3111 +26y=36,
GERRE:

then |xy|=
(A) 2.3 ( :
.
<
(B) 2 Q} 2
{Cy 3 0 (Y 31
(D) 1 (D) 1

>

70. Two trains, each 0, ng, are  70. @1 yeEfeAr, e 0.100 fr ot w, faada
travelling in op ections with fegneti F 36 for i /= wg 15 w1 /4. @t
speed 36 km,/h and /s. The time of e H 99 T 8 I I HEee

crcxssing 1% :

(A) 8 sec (A) 87

(B) 4 sec (B) 474

(C) 10 sec (C) 10 4.

(D) None of the above (D) 3WEA H ° ®IE 49l 75

SPACE FOR ROUGH WORK / T% &1d & fod s
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Miental Ability A Fadr
71. Which of the following number is 71.  TreAfeilia o F0 @ 3% g @ fam 27
different from gthers ?
(A) 41 (A) 41
(B) 61 (B) 61
(<) 85 (C) 85
(D) 115 (D)
72. U + II]‘|LE]H.:» -+ 72. 3l = aEE +
® m]ﬂans w ARG —
+ mpans | ® + AT
— mpeans |-+ — TEE -
8=2+-10H2p6l=_ 2 8§—2 =10+ — 7
(A) 12 (A) 12 &
(BY 12 (B)
(C) 16 e @
(D) 18 * D)
L 2
73.  What is the [next term in the following EF Rt o Bt | e o A E
sequence ?
1,514,30456, 1 2 LR 80,557
(A) 91 (A) 91
(By 92 (B} 92
() 93 (©) 93
(D) Nond of the above @ (D} ITFa & & F1E o TE
74.  Which regipr rz-"_':ue‘: 2, educated i\ &7 e, foftm uE faadsm \m
and unemplayed pu: 1 EIEp et G
Young : I —
I;::‘f;?—-ﬁ’l’_“ ﬁdnedut_and | | ?ﬁ:ﬁ H‘xﬁﬁﬂfﬂa
i Y A s
\2 )t / 5,,# ‘ [ ”\2 il/f i il
5 ] EmpEO}de ! L? - — I__ﬂﬁrrn'{ Bl
(A) 1 (Ay 1
(B) 2 B) 2
(C) 3 ) 3
(D) 4 (D} 4
S5PACE FOR ROUGH WORK / 7% &4 & foa o
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75. Find the missing term : 75. oW UG F L
G E LR L R T odd W2l 3A3eDY7, 7 LRV A
(A) 18G12 (A) 18G12
(B) 20G 13 (B) 20G13
(C}) 18G13 (C) 18 G 13
(D)  None of the above (D) SWEE ° | & 1S
76. Find the wrong term in the following  76. F=faiias sITHA H Toid 48 0d %1 :
REQPRRGES 2,4, 84,8 16, 6,12, 26) 8, 16, 32.
2,4, 8 4,8 16, 6,12, 25, 8, 16, 32.
(A) 16 (A @
(B) 26 Dﬁ
© 32 ’\% 32
(D) None of the above Q (D) =wdet | | =12 i 7R
O
77. How many among the followin 77. fr=fafas 4 9 famJ, 7 fofam € 7 faarE
educated nor player but | g TEY 9 HRIEN § 7
shopkeeper ? . o
Phopleepets ——Flayers W‘—(/E—m A— faerer
12406/ 13
——Male 9% & o
/5 ‘r—Educated A w}‘ Fafisa
(A) 4 (A) 4
(B) & (B) 6
ey 943 (C) 12
(D) 11 (D) 11
SPACE FOR ROUGH WORK / T% & @ ford =g
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78, Which c:Jru:z of the following four logical

diagrams

Cricket pla yefs, Students ?

@ e

(A) (B
79. If CAT=25
GE[l = 33
DAG|=27
Then AWH=1?
(A) 28
(B) 29
(C) 30

(D} None| of the above

80. Count the number of

following figure :

) e ;ﬁl/\ B
._\

|. represents correctly the
relationship| between Tenis plavers,

(D)

cubes in )

78,

79.

&

Feifsrd = fadl # 9 F=-m1 f93, 30
fEenel, Tz fgamsr, 3 ol &+ 99 Hadl
I WE-Ha! g § 7

'@_'_ & (@

(A] (E) (C)

TN

@) J

qfg CAT=25
GET =33
DOG=27

2 aw@
(A
(B
;Qn
) ITER o © i TE

mWﬁﬁ?hﬁmmﬂﬁmW#&

AT oo
O i
V-7 4R
y. 7 y.
el - Q: i3 - -
§ ; N %ﬂ% S
- &, D R 3 x
%_ R ‘\Q‘ P
SHl S 3 4
B R ¥
(A) 92 (A) 92
(B) 87 (B) 87
(C) 89 (C) 89
(D) 90 (D) 90
SPACE FOR ROUGH WORK / T% &1 & fad 57
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1. Find the missing term in the following

diagram :
5 b ] 5
3 5 10
2 11 13 13
16 18 19

(A) 5

(B) 4

(€} o

(D) None of the above

82. Select the diagram which will come next

in the following sequence of diagrams

x} X

[

=6

5 6 g8 | |5

3 5 g i
[ 2 11 12 17

16 18 | 19
(A) 5
(B) 4
(C) o
(D) 39ddF o | Fh3 T

Tl dmen o

=P N [©A l/‘l |
% & g b )
(&) (B) (©) @ ) g ||l o
83. What is the numher%&&m 5in the 83, ‘era' & frEfaitEd fefd 9 5% O
dice position given below ? FH-H1 &HF §?
& /| 76 5 1 /] 6.7 76 5 1
32‘246442 52‘2464/42
Ay 1 (A) 1
(B) 2 (B) 2
(C) 3 € 3
(D) 6 (D) 6
SPACE FOR ROUGH WORK / 7% T & ford =g
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84, SE;LEEt the one which is different from 84, FHEGiEd ¥ &= 3 fas =1 999 &
othe

(A) | CE (A} CE
(B) | GK (B) GCK
(€] | MQ (C) MQ
(D) [SX (D) 85X

85. How many triangles are there in thee Sg)ﬁl?{ﬁﬁﬁﬁﬁ{‘ﬂﬁﬁw:
2

fighrt 2 Q\
/ c)%o
ul @\O

N

(A) 115 (A} 15
®) 17| (B) 17
(©] 9| (C) 19
(D) 20O | (D) 20

SPACE FOR ROUGH WORK / 1% &Td & fo1d sg
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General Knowledge HETA FJH

86. In how many stages the elections were 86. 164 @im A & g 7 10 9 12|98 2014
held in the 16" Lok Sabha from 7% April & SN R =7l § A 5 g ?
to 12" May 2014 ?

(A) 07 (A} 07
(B) 08 (B) 08
(C) 09 (C) 09
(D) 10 (D) 10 ®
O
87. Which organ is known as Adam’s  87. —HT“ T | ' oen e E
apple 7 S ?
(A) Pharynx QA wirg
(B} Larynx (B) wfrs

(C) Trachea (C) FA T

(D)  Oesophagus @ (D) FHRETE
S

88, Analloy of iron and Nickel is called : 88. Fraa-oie fag urg Fi wed £
(A) Brass (A) e
{B) Invar (By FEI
(C) Bronze (<) Fles|
(17} None of the above (D) SWEA H 9 @®1E e

SPACE FOR ROUGH WORK / T% & & o smg
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89. Fourfeenth Finance commission has 89, =ized fasr amam gr e fegtsiaa el o
incregsed the share of states in central T kYT Hgl4al Tl
divisiple pool :

(A} frbm|28% to 38% (A)  28% 9 38%
(B) frpm|32% to 42% (B) 32% & 42%
(C)  From|28% to 42% (C) 28% H 42%
(D} none of the above (D) ST W R wE T8

90. Which |of] the following is a mud a{. Fmﬁﬁﬁ?'m&"mr%7
volcano| ?

Lt

(A)  PBdrren isiand

{.""'l.i >
{B) Narcondam island w B9

{C) Peccan Trap

(D) PBdratang island : o(Dj TR B
ch Article of Constitiati Q

91.  Undeg whig 91. Ireuld wiEdH & faw saeee Foaeia
the Priesident dissolve the Lok 5z R 9T T A 7

(Ay  frticle 95 Q (A) T 95
(B)  Riticle 85 O (B) &q=ds 85
(C)  Article 35@ (C) =T 356

(D) Niticle j@\' (D) =TT 365

92. When was the first meeting of the 92, HEUF 991 %1 947 S5 Fd 7 g2 91 ?
Constityent Assembly held ?

(A) 92 Dec. 1946 (A) 02 fEHe 1946
(B) 9] Dec. 1946 (B} 09 FHTL 1946
(C) Q4] July 1947 (C) 04 FoE 1947
(D) 15 Aug. 1946 (D} 15 21T 1946

SPACE FOR ROUGH WORK / 7% @h1d & g =g
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93. By which of the following names Shivaji's 93, TeAfertas o = few e | fEms $1 pheed
Council of Ministers is known ? AT =1 E ?
(A} Sapta - Shahane {A) U4 - ]
(B} Ashta - 'radhan (B) H= - HEgH
(C) Nau - Ratna €y -3
{12} Dash - Mantrin (D) =9 - "=
94. What is correct about casting vote of 94, TI® HY WIHL F EE 7AW AwE |
Speaker of Lok Sabha ? EEER I
(i)  Itcanbeused inremoval resolution (1) e W F SUEn
of President. l
(i} It can be used on Govt. Bill. (i g, Tkl fauEs W g fear =
IS
(iit) Tt can be used on No confidence Qii} g IfFTEE wEE T ETEE e
motion. TFEA T
(iwv] Itcan be used in removal reso {iv) 48 R R e W O 3T
of Judges. ¢ ERRE R E IR
(v) It can be used 1 %nal (v) =% " Hyme fa s v 39
Amendment Bill. e =1 e 21
(wi) Tt can be used in Money Bill. (vi) T o9 fFeTs T S9d] = wEa
l
(A} (1) (v (v) (A) (i) (%), (v)
(B) (i), (iv), (v) (B) (i), (v}, (v)
() (i), (i), (vi) (C) (id), (iii), (vi)
(D) (), (i), (vi) _ (DY (), (i), (wi)
SPACE FOR ROUGH WORK / T% %14 @& Tod w778
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96.

bu{lbes at the equamr

"Hluc_l'l mountain pass in Himalaya 95. feamemEm ¥ SH-91 qgrEt 79y {urd) YREE

T Tt =t = & we wrga 32

(A)y TemosRien o (v

(B) FHA 9
(C)  Tergera g
(D) A1 11

yedft % waw ° T9 § | FH-01 99 6w
TEH 22

(A) SEIERUEE S

Q” SH, AATEE T W A
C Bard |
L 2

\
rnlrns{ct& Indian State of Sikkim with
Chrm| ?
() | E[ilup]mla Pass
. {%}| ?umla Pass
(€)] Uipulekh Pass
()| Nathula Pass
R::g’u-rlling garth which statement is 96.
iurt. 1reict ?
(M) | Earth is in geoid shape,
{(B) | Pplar diameter is greater than
| equatorial diameter.
(C}) | Difference in value of equatorial \
and polar diameter is the cause
Ea|rth’.=; oblate spheroid shape.
(D E&J]"th is flattened at the ¢!

*(C)

AYIETT =0 Ud g =6 § 2
F HA U] GIRE SR AHEE °
21
(D} gl el T T Y 9 E9
e gu ¥

97. Ten tll Scrwdule @ Constitution 97, HWfEuE § Siel T gEet i defia T
is related t
(A)| 'Special Prwﬂege to the State of (A) Tusire w9 % o8 favm vy 9
Mizoram
(B) | Pravision as to Disqualification on (B) = THET % ST Y A
Fhe ground of Defection ERHEDIE]
{C) le'lditions related to the status of (Cy foferm % it | daida w9
T}ik <im
(D) 1\104143 of the above (D) S H R Fest |
| | SPACE FOR ROUGH WORK / T% =14 & ford 5718
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98. Lunar eclipse occur when : 98, WEURY FA BAIE? T4 |

(A4) The sun is between the earth and (A)  HA, gzt U5 =EA1E AL o W g
the moon. I

(B) The earth is between the sun and (B) I, HH UA SgH] & Al St 1
the moon.

{C)  The moon is between the sun and (C)  wemr, HE U YA A AT
the earth.

(D) None of the above (D) 370 ° 9 FE 7]

99. What is the meaning of core sector in 99, T H 1 A €

planning ?

(A} Selective Infrastructure Industry Q?R?Iﬁ_d SRS T

(B) Agriculture O%

(T} Security (C) EW

(D} Iron and Steel Industry OQ (D) iTer oF Tooma 3En

.

2

100. At which of the f % places in 100. afmerg | fFr=faiea § 3 vy wam wufag
Tamil Nadu the fam Brihadishwar Hgarvet Hial fem 27

temple is situated ?

(A) Tanjore (A) AR
(B) Kanchipuram B Wi

(C} Madura ©

(D) None of the above (D) T AR T

SPACE FOR ROUGH WORK / 7% &4 & " w7
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101. Whao

(A)
(B)
(C)
(D)

of the following was the leader of
the Rev

{:rlt|0f 1857 in Lucknow ?

Begum Zeenat Mahal
Eegﬁm Hasrat Mahal
Begum Hazrat Mahal

Begl_ilm lzzat Mahal

102. In whidh l%ll'ltude Torrid zone falls 7

(C)

(D)

103. To Wlf'

Asho
(A)
(B)
(©)
(D)

[

L

il

L=4¥

L

10
5

H
Sl
M
S

[

: 1
ncated between 0° and 235 north

|
and south of the equator.

o

| _ |
poated between latitudes 2::-2—

juator. Q

: 1
prated between 5 66-5 to

1" north

one of%
|

h of the following ancient dynasty
- the - Great belonged ?

the equator.

aryak

[
hishunaga
laurya

hunga

101.

102,

4

103.

e A
OHBE&HW%HW

Q\’{B} Grebicei e e Tl i L 23%— #
1d ;66% north and south of Q

Freferfas o & = 1857 & fagie =i o -
o Tar ot ?

(A) =R St wEd
(B) ="H TE HeEd
(C) =T gEd HEe
(D) =79 g e

form wape o 3907 swieEs g | 7

{A) TEr 9 I oug gfyer ®

66% A F A

(C) 9Awd 1@\ o TwL U afaier #
£
2
(D) =9 H o HIE 20

66— H O0° HLTY & HEA

i T2 AotaiEs 1 | fee gt TeeEy
o HAfag = ?

(A) &

(B)  TempAm
(C) v

(D) 9

Set-B
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104. Against which of the following Act 104, Tretfafma § 4 feg EALR o Ty | Har
Mahatma Gandhi launched his first Ml A wra W uyw " UEsE T
nation-wide satvagraha in India ? =TT ?

(A)  Pitt's India Act (A) 192 =1 5891 &
(B) FRowlatt Act (B)  ere F1A

(T}  Regulating Act (C) @ wrE
(D}  WVernacular Press Act (D) =R UH A

105. Why does land heats and cools more  105. T T THRMNL ¥A1 # 21y ¥t 9 quar
gquickly than water ? k= et ;

(A) The specific heat of land is high e T fafire s iy gt 2|

{(B) The specific heat of water is high T At S st 9 )

(C) The specific heat of land is low (C}  yfu =i fafims o oy 60 5

(D) The specific heat of watgy ia@Q ()G IRCARE IR e A o e
S

106. “Open Market Gpera&a part of 106, ''Tet am= &1 " FreAfaiaa | & frw
which of the following Policy ? A 1 A0 22
(A) Tncome Policy (A) =14 ifa
(B) Monetary Policy (B) wifgs AifF
{(C) Fiscal Policy (C) Ir=r=hTeg il
(D) Labour Palicy (1) ¥ Al

SPACE FOR ROUGH WORK / T% &g & ford =
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107. Which lamongst the following officials 107, FT=Tioea # § SH-91 WitRRT 598 = fwar
can panti¢cipate in the proceedings of any 1 Wed wm A | 9rT # T E 7
House pf|the Parliament ?

(A) Defence Secretary of India (A) VTR ST 18T Hi=a

(B)  Altt :rrn!u}-' General of India (B} A & HETEERE
(Cy  Chief Justice of India (C) a1 5= =
(D) None J\f the above (D) Todsa | 9 &E T

108. Which of the following instrument isused 108, 791 ® @ g 93 =1 379 g = feun”
to measupre Twind direction” ? T w4 & o e s 7
(A)  Altpmster
(B) Barnometer -

(C) Wind Vane @
(D) Anemometer ;.

109. Whichl | sector have alﬂxunu’;o}ﬂ? S H T e H TR HF EEibED

contribytian in National Inc ERECEY)

India ? Q

(A) Hrimary sector o O (A) TiHTaE &
(B) Sedondary qectu@ (B) faom &=
(C)  Tertiary @ (C) daa® ==
(17} Hgually from¥ll the three sectors (D) =70 = JE

110. In which si'altu: there 1s Maximum Literacy 110. Hizenad 1 @wera X Fad s 5y g
Rate of women ? HE?

(A) Tamil|Nadu (A) AT AT
(B) Kerala (B) el

(C)  Mizoram {C) o=

() West Bengal (D) U= =

Set- B
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111. Which of the following is the site of 111, 79 5 9 faif qifeq gvé g1 37
protein synthesis in a cell ?

(A) Mitochondria (A) A

(B) Ribosome (B)  ¥rEaEm |
{C) Endoplasmic reticulam (C) E?*Ww
(D} Golgi body (D} Tt =T |

112, The glassware used in kitchen are made 112, T=A 5 ERESEEAC T Tﬁh TS TEE R

of Pyrex glass because it has 97 ®d € #;WTe 3981 famnr s
coefficient of expansion. : 7l

(A) High (A) i

(B) Low @

(C)  Medium {C}(ﬂ%m

() MNone of the above @} T o g ﬂ%‘!l

113. In which country, First Industy 113. W@WWW%—W&W g2 ?
Revolution had taken place 7
(A) France OQ (A) TR |
(B)  Germany % (B) S |
(C)  America (C) =i
(D) England (D) 3miE

114. What is the base of determination of 114, Y § FHEE o HEME - F Fafor w5

dearness allowance in India 7 ST 1 5 7 |
(A) Consumer Price Index (A) SIS g gasis
(B) National Income (B) et amg |
(C)  Per capita Income (C) wi=aie a1 |
(D) Life Status (D) = &= |

SPACE FOR ROUGH WORK / T% &1 & fod wie '
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115. Matdh the following places with their ore

mingrals :
{a) |Rawghat (i)
(b) | Khetri (11)
(c) | 4awar (iii}
(d) | Balaghat ({iv)
(a) || (b} (<)
(A) | @) | @) (i)
(B) | vy (1) ()
(C) |G| (D) Aiv)
O) | (v)| @ G
116. The
is
(A} | €O,
® [0
(C)
(D)

117,
wils

Indian National Army - Sehgal, Shah

Nawaz and Dhillon 7

(8)
(B)
(©)
(12)

Vicdroy’'s Lodge,

Red Fort, Delhi

MNone of these

Tn-'aler .
Chlucose @
At which|of t&llowi ng places a trial 117
held|against the three generals of

Copper ore
Lead-Zinc ore
Manganese ore
Irom ore

(d)

(iv)

(131)

(1)

(1)

.
imimediate product of photosynthesis ®

>

Simla

Victoria Memaorial, Caleutta

115. (afafag @ &0 595 Th9 S9@l 5

1 WAy wifed

{a) TEER (i) @ TR

(by & (i) S-S SR

RGIEL (ifl) HTE FEE=

(d) IR () @lE SR
(@) (&) (0 ()

(A) () () () (V)

(B) (v) () () ()

(€) i) (iv) (i)

C )Gy (D (5

g e 1 T TR R

(A) COy

(B) O,

(Cy w

(D) TEEE

R fe= Wi & A9 gardfadl - Hee,

weAaT iR faedil & faeg fefafaa 9 9
e T 97 AT =erEn T 7

(A) EEEE @, e
(B)  fasifon TmTREE, werm

(C) e T, faem

(D) =78 4 wE T
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118. Economic Planning is a subject of : 118. ey framsm fp &0 |

(A) Union List (A) i
(B) State List B) T

(C) Concurrent List () W e A !
(D) Special List (D) o e |

i - . : [
119. JAM Trinity is being talked about in the — 119. = fa12t =1 == far == 4 9 29
context of :

(A) Regulation of Market (A) = |

(B) Transfer of subsidies +(B) 4 (wefget) %'mm i
(C) Financial Literacy @ fafea wmema o

(D)  None of the above (D} T @ FE T |

[

120. If a bill is passed by Stat® tive 120, T % f@8= T faud ofiwg gm wifi

Council but not pass State T, 9 faum |wr g wifta e o s

Legislative A:&sem% will T'fTE’Tﬁ'F‘I‘P

happen ? \' l

(A)  The bill will be finally rejected (A) TatTe sifam w0 @ fe B smom

(B) Four months time will be given to (B) TG TIYM 9 F ¥R WE % w99
State Legislative Assembly feam s

(C) Joint session will be called for this (C) 7o fawa W Hgm stferty sjermn smom
purpose

(D} The Governor will interfere (D) TSI FEaT Fa |

SPACE FOR ROUGH WORK / 7% &Td % fordt o
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121. Whe
recer

(D)

C‘?urreut Affairs  HHHTHIEERT

, hag been named as ‘Deepasha’  121. T=9 ¥ ‘gmmen’ = =1 €1 ° f& faan mar 7
itly in the state ?
| ;
Tiger cub born in Mandan Van {A) =49 T 79 o 49 I e Eal
Wild Buffalo calf born in Udanti (B) <t H o1 ford w1 A 69 % W H
A new lizard species found in (C)  Sarsre? ] | qrEl T T T
Kotumbser caves fi =l
|
Rair—: Hill Myena found in @ darer | 29l et gely werEl 1
Da

twada
| .. O

I q\ ‘ qiget
|
per the Census Report of 201 @ 22, T § - fETEOE A 2011 F

122. As
female-m{aie Sex Ratio in the stg#® T ST & STER ot & 2
(A) Fethale Malf OQ (A) wieen i
10 Iz 1 1032 1000
(B) Felale& (B) wfee ™9
*Jﬁﬁ! 1000 985 1000
|
(C) | Female  Male | (C) wifgen 5
191 1000 991 1000
(D)| Female  Male (D) wfgen e
945: 1000 945 1000
| SPACE FOR ROUGH WORK / T% = % f&ed wmg
| :
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123. Who has been appointed as the New
Director-General of the “The Energy and
Kesources Institute” 7

(A) R.K. Pachauri
(B}  Ajay Mathur
(C)  Narayan Murti
(D) Nandan Nilkeni

124. Identify the Indian Golfer who won the
Gold Medal at the Special Olympics
World Cames held at Los Angeles, this
year :

(A)  Arjun Atwal

(B} Rashid Khan

(C) Prabharoop Shekhon
()  Ranveer Singh Saini

125. Who is the host country of 1

St it ?
{f: ;mTUIkE}’ e&o
N

(B) China
(C) Australia
(D) France

126. Sattriya is a dance form of which state ?
{(A) Manipur
(B) Kerala
(C) Assam
(D} Odisha

123.

124,

O

125,

126.

L |
‘T Tl uvs fiEidg

sfefez & A9

TETE9F % 95 7 6

(A) SR, T
(B) o My
(C) AR g
(D) F=7 terhl

EEE-RETIRIC K%

3T AT e w9

=it Foroe 79 =d

HH UfAeH § iy 3

T | s ave

mw&m;
(£ %aﬁaﬁr
(B), R CIC)

| A9EY vl
D) ToER o O

mﬁfzﬂﬁuzwﬁﬁqaﬂaﬂrﬁwﬁaﬁﬁ“?

(A) =
(B) i
(C) e
(D) wH

I 9 R T 1 9 P 7

(C) SAEMH

e

(D) &rey
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127. Whe amongst the following has been 127. =1 9 8 49 '5 fts7 &1 o Tsn 9
hopourgd by “The Legion of Honour T foE] P B 7
Avrardl] 7

(A} | Syed Haider Raza (AY Hag dew =
(B} | Yashwant Sinha (B} == fH=
{C) | Shahrukh Khan (C)  wmEeEE ™|
(D) | All the above (D) SR gt

% [y e 5o 99 S weE
Tt — =g o = war ' =R = fean o 2

128, Which freedom-fighter of this region had 128.
given the clarion call “Satya se mat digo - ()
.

chahe jivo va maro” ?
|

\ *
(A | Ot Ramdaval Tiwari Q {A) ERRIEECIGRGEIE

(B} | Keyur Bhushan O (B) 'E*_.'EB SRR

() | Marendra Deo Q (C) HE<a

* i -
(D) . Heverna i

()| Pt Sundar L@

129. ’{_af;sitcri’ft is an ore of which metal 129, 'Figdmee’ fEa HI, =1 9% s Gﬁ"i@lﬁ:

whigh {s mainly found in this state ? TH T H 9w g 2
(4)| Manganese (A) Hr

(B) | lron (B) A

(@)| Uranium (C) TIFEH

()| Tin (D) fe

SPACE FOR ROUGH WORK / T% & & fad =g
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130, Which Indian Public Servant has been
selected for the Ramon Magsaysay
Award 2015 ?

(A)  Sanjiv Chaturvedi

(B)

Anshu Gupta

(C} Kiran Bedi

Arvind Kejriwal

131. Who amongst the following is a famous

santoor player ?
(A) Ravishankar

Shiv Kumar Sharma

(B)

{C) Ananda Shankar

(D) Amjad Ali Khan

>

2015's Wimbledon @q'ﬂurnament
Wi

Ladies Double Title winfer Sania Mirza's
partner belongs to which country ?

132,

(A) Serbia
(B) Switzerland
(C) Russia

(D) Hungary

130. ¥ wHGE @ G598 &) 99

2015 & oA

TTHH [N F o ﬂqfﬂ:n i

(A) HeT =gael
(B) ST
(C)  ToAm =&

(D) T Fiam

131. = o

. }ggw'm
O§§ fora e ot

(C) Mg Ty

(D) I9eg 3Tell =@M

132. 2015 ¥ fofaereq 2 e

=
f=
i
[

0 Ty 7

1 fgas sita a1 |1
faenst fFm ewr w1 87 |

(A)  Hishar |
(B)
(C) e

Hizels |

(D) &

At T AT
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| SET-B
I FAfeRA T T HET 3,00 HULT 1 | AifereRad 3 : 150
Time for, marking answers : 3.00 Hours | Maximum Marks : 150
iz
1. 39 pyE-yfemR © e am e
T HES HEE A ¢ 120
I REE) : 21-30
ATH= 3T ;o 31-40
T : 41-70
e e o : 71-85
HHA AT ; 86-120
SEEIIPET) ¢ 121-135
T/ HatHd 7 : 136-150 O
‘Jﬁfaafgﬁ 1 3% HTE oy ()
2, [ % FO, T TE AN TH.AN, (SU-TAE ) fer =R 17T |
3. e AfeRd T UL 1/4 HE HE
4. o it @ & e =1 w2 A R FE A #
5. S S et #i e v b7 7T e W el SO WY o S T srAfa £ wfed
e - YT ®1 Far TS A gl S =R |
6. AV = wAM  srarayT 9 TAEE " e W A1 35 Arg a1 fawae anfy
T [T @1 a4 T A
Note :
1.  This Questigp-Book¥et contains Parts :
Computer General Knowledge - 1-20
General Hindi - 21-30
¢ral English : 31-40
thematics : 41-70
jn al |Ability . 71-85
slarai Knowledge : 86-120
rent Affairs : 121-135
t Related Knowledge : 136-150
h question contains 1 marks.
2. 1e 1 your answer on the OMR Answer Sheet provided.
3. tk will be deducted for each wrong Answer.
4. f any type of calculator, log table and mobile phone is prohibited.
5. auJ 1da're-s are permitted to carry away the carbon copy of Answer-sheet and Question
Bo !etmrch them, but they shall submit the Cover Page of Question Booklet to the Invigilator
6. While using Answer-sheet care should be ta ken so that the Answer-sheet does not get torn

af:ir the examination.

or brloilbd due to folds and wrinkles,
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